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Read the passage below and answer the Questions:

Knowledge is a form of union of Self and not-Self; like all unions, it is impaired by dominion, and therefore by any attempt to force
the universe into conformity with what we find in ourselves. There is a widespread philosophical tendency towards the view which
tells us that Man is the measure of all things, that truth is man-made, that space and time and the world of universals are properties
of the mind, and that, if there be anything not created by the mind, it is unknowable and of no account for us. This view, if our
previous discussions were correct, is untrue; but in addition to being untrue, it has the effect of robbing philosophic contemplation
of all that gives it value, since it fetters contemplation to Self. What it calls knowledge is not a union with the not-Self, but a set of
prejudices, habits, and desires, making an impenetrable veil between us and the world beyond. The man who finds pleasure in such
a theory of knowledge is like the man who never leaves the domestic circle for fear his word might not be law.

According the passage, the philosophical view which considers “Man” as the measure of all things and truth to be man-made,

espouses ---------- in lieu of knowledge

union with Non-self

prejudices, habits and desires

union with Self

impenetrable veil between self and the world beyond

None of the above
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Read the passage below and answer the Questions:

Knowledge is a form of union of Self and not-Self; like all unions, it is impaired by dominion, and therefore by any attempt to force
the universe into conformity with what we find in ourselves. There is a widespread philosophical tendency towards the view which
tells us that Man is the measure of all things, that truth is man-made, that space and time and the world of universals are properties
of the mind, and that, if there be anything not created by the mind, it is unknowable and of no account for us. This view, if our
previous discussions were correct, is untrue; but in addition to being untrue, it has the effect of robbing philosophic contemplation
of all that gives it value, since it fetters contemplation to Self. What it calls knowledge is not a union with the not-Self, but a set of
prejudices, habits, and desires, making an impenetrable veil between us and the world beyond. The man who finds pleasure in such
a theory of knowledge is like the man who never leaves the domestic circle for fear his word might not be law.

As per the passage, what is impaired by any attempt to force the universe into conformity with what we find in ourselves?
self

non-self

union

knowledge

None of the above
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Read the passage below and answer the Questions:

Knowledge is a form of union of Self and not-Self; like all unions, it is impaired by dominion, and therefore by any attempt to force
the universe into conformity with what we find in ourselves. There is a widespread philosophical tendency towards the view which
tells us that Man is the measure of all things, that truth is man-made, that space and time and the world of universals are properties
of the mind, and that, if there be anything not created by the mind, it is unknowable and of no account for us. This view, if our
previous discussions were correct, is untrue; but in addition to being untrue, it has the effect of robbing philosophic contemplation
of all that gives it value, since it fetters contemplation to Self. What it calls knowledge is not a union with the not-Self, but a set of
prejudices, habits, and desires, making an impenetrable veil between us and the world beyond. The man who finds pleasure in such
a theory of knowledge is like the man who never leaves the domestic circle for fear his word might not be law.

Identify from the options given below, a word or phrase, which means to damage or harm

fetter

rob

impair

force conformity

None of the above
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Read the passage below and answer the Questions:

Knowledge is a form of union of Self and not-Self; like all unions, it is impaired by dominion, and therefore by any attempt to force
the universe into conformity with what we find in ourselves. There is a widespread philosophical tendency towards the view which
tells us that Man is the measure of all things, that truth is man-made, that space and time and the world of universals are properties
of the mind, and that, if there be anything not created by the mind, it is unknowable and of no account for us. This view, if our
previous discussions were correct, is untrue; but in addition to being untrue, it has the effect of robbing philosophic contemplation
of all that gives it value, since it fetters contemplation to Self. What it calls knowledge is not a union with the not-Self, but a set of
prejudices, habits, and desires, making an impenetrable veil between us and the world beyond. The man who finds pleasure in such
a theory of knowledge is like the man who never leaves the domestic circle for fear his word might not be law.

Indicate from the options provided the closest antonym of ‘conform’ as used in the passage:

flout

bypass

flaunt

deny

None of the above
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Read the passage below and answer the Questions:

Knowledge is a form of union of Self and not-Self; like all unions, it is impaired by dominion, and therefore by any attempt to force
the universe into conformity with what we find in ourselves. There is a widespread philosophical tendency towards the view which
tells us that Man is the measure of all things, that truth is man-made, that space and time and the world of universals are properties
of the mind, and that, if there be anything not created by the mind, it is unknowable and of no account for us. This view, if our
previous discussions were correct, is untrue; but in addition to being untrue, it has the effect of robbing philosophic contemplation
of all that gives it value, since it fetters contemplation to Self. What it calls knowledge is not a union with the not-Self, but a set of
prejudices, habits, and desires, making an impenetrable veil between us and the world beyond. The man who finds pleasure in such
a theory of knowledge is like the man who never leaves the domestic circle for fear his word might not be law.

Read the following statements and say whether they are true or false, on the basis of the passage:
(1) Man-centric view of the universe and the notion that truth is man-made is utterly fallacious

(i1) Far from being true, it denies any scope to human mind for contemplation of matters of intrinsic worth to itself

statement (i) is true but statements (ii) is false

both the statements are true
both the statements are false
statement (i) is false but statements (ii) is true

None of the above



56 Question Description Which state is set to host the world's largest Jhumur festival in 2025?

A West Bengal
B Assam
c Odisha
D Jharkhand
E None of the above
Correct Answer B
Marks 1
57 Question Description When is World Cancer Day observed?
A February 1
B February 4
c March 5
D December 10
E None of the above
Correct Answer B

Marks 1
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A
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A
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How many consecutive Union Budgets have Nirmala Sitharaman presented?
7th

8th

9th

10th

None of the above

Which institution collaborated with ISRO to develop the Indigenous Space Chip IRIS?
IIT Bombay

IIT Delhi

IIT Kanpur

IIT Madras

None of the above



60 Question Description Who won the 10th men's snooker championship at the Indian Snooker Championship?

A Aditya Mehta
B Brijesh Damani
c Pankaj Advani
D Geet Sethi
E None of the above
Correct Answer C
Marks 1
61" Question Description What is the name of the new SuperApp launched by Indian Railways for seamless travel?
A RailConnect
B UTS Mobile
(o RailYatra
D SwaRail
E None of the above
Correct Answer D

Marks 1



62 Question Description Which company unveiled India’s first eVTOL air taxi ‘Shunya’?

A Sarla Aviation
B Reliance Aerospace
c Tata Advanced Systems
D Mahindra Aerospace
E None of the above
Correct Answer A
Marks 1
63 Question Description Who was awarded the INSA Fellowship for 2025 for contributions to vaccine development?
A Dr. S. Somanath
B Dr. Krishna Ella
c Dr. Renu Swarup
D Dr. Kiran Mazumdar-Shaw
E None of the above
Correct Answer B

Marks 1



64 Question Description When is National Geographic Day celebrated?

A January 25
B January 26
c January 27
D January 28
E None of the above
Correct Answer C
Marks 1
65 Question Description Which state was declared ‘Naxal-free’ after the final surrender of its last active Naxalite?
A Chhattisgarh
B Jharkhand
c Karnataka
D Odisha
E None of the above
Correct Answer C

Marks 1



66 Question Description The words in the bottom row are related in the same way as the words in the top row. For
each item, find the word that completes the bottom row of words.

claisy flower | plant

bungalow | house| ?

A building

B cottage

c apartment

D city

E None of the above
Correct Answer A

Marks 1



67 Question Description A, B and C can do a piece of work in 20, 30 and 60 days respectively. In how many days can A do the work if he is assisted by B

and C on every third day?
A 12 days
B 15 days
c 16 days
D 18 days
E None of the above
Correct Answer B

Marks 1
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Find the next number in the series:
2,6,12,20,30,

38

42

48

56

None of the above



69 Question Description What is the next term in the series?

1,3,6,10,15,

A 21

B 19

c 18

D 16

E None of the above
Correct Answer A

Marks 1

70" Question Description Read each definition and all four choices carefully, and find the answer that provides the best example of the given definition.

People speculate when they consider a situation and assume something to be true based on inconclusive evidence. Which situation

below is the best example of Speculation ?

A Francine decides that it would be appropriate to wear jeans to her new office on Friday after reading about "Casual Fridays" in her
employee handbook.

Mary spends thirty minutes sitting in traffic and wishes that she took the train instead of driving.
After consulting several guidebooks and her travel agent, Jennifer feels confident that the hotel she has chosen is first-rate.

When Emily opens the door in tears, Theo guesses that she's had a death in her family.

m O O @

None of the above

Correct Answer D

Marks 1



1" Question Description Look carefully for the pattern, and then choose which pair of numbers comes next

84 78 72 66 60 54 48

A 44 34
B 42 36
c 4232
D 40 34
E None of the above
Correct Answer B
Marks 1
72 Question Description Tree is to leaf as flower is to:
A Petal
B Root
C Stem
D Branch
E None of the above
Correct Answer A

Marks 1



73 Question Description Choose the pair that best represents a similar relationship to the one expressed in the original pair of words.

SPY : CLANDESTINE

A accountant : meticulous
B furrier : rambunctious
(6 lawyer : ironic
D shepherd : garrulous
E None of the above
Correct Answer A
Marks 1

74 Question Description 3,12, 30, 68, 128, ?
A 218
B 228
(o] 220
D 210
E None of the above
Correct Answer B

Marks 1



75 Question Description Which of the following is the least like the others?

A Diamond

B Ruby

c Emerald

D Pearl

E None of the above
Correct Answer D

Marks 1



